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General Instructions :
Please read the following instructions carefully and follow them.

1.
2.
3.

AN L I A A S

10.

This question paper contains 13 questions. All questions are compulsory.
This question paper consists of THREE sections — Section A, B and C.

Section A has 8 questions (I to 8) of 2 marks each. Answer to these questions should be
completed within 50 words each.

Section B has 3 questions (9 to 11) of 4 marks each. Answer to these questions should be
completed within 100 words each. Answer of MAP question should be attempted accordingly.

Section C has 2 questions (12 to 13) of 6 marks each. Answer to these questions should be
completed within 170 words each.

There is no overall choice in the question paper. However, an internal choice has been
provided in some questions. Only one of the choices in such questions have to be attempted.

SECTION A
Why was the judgement in the Shah Bano case challenged ? Explain. 2
Name any four members of the European Union. 4x15=2

Highlight any two excesses made by the Government during emergency of 1975.  2x1=2
State any two reasons for imposing emergency by the Government in 1975.  2x1=2
State any two challenges faced by BRICS. 2x1=2

"South Asia constitutes one geo-political space, yet stands for diversity." Justify 2
the statement.

Why is the Presidential election in 1969 in India considered 'Historical' ? 2x1=2
Highlight any two reasons.

(@) Who opposed the concept of 'Capitalist Individualism' and why ? 2
OR
(b) Explain the concept of 'Chouburja Rajneeti' as advocated by Ram 2
Manohar Lohia.
SECTION B
Explain that China and the United States are still the key players in South 4

Asian Politics.

Highlight any four factors that have made the European Union to act asa 4x1=4
Nation State.
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11. In the given political map of India, four states have been marked as A, B, C,
D. Identify these states on the basis of the information given below and write
their correct names in your answer book along with the respective serial
number of the information used and the concerned alphabet as per the format
that follows.
(1) The state to which Raj Kumari Amrit Kaur, Health Minister in Nehru's
Cabinet, belonged.
(i1) The state to which former Congress President, S. Nijalingappa, belonged.
(i11)) The state where Karpoori Thakur was the Chief Minister.
(iv) The state to which political party DMK belongs.

Sr. No. of the Concerned Name of the state
Information used alphabet
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Note : The following question is for visually impaired candidates only in
lieu of Q. No. 11.

11.1
11.2
11.3

11.4

12. (a)

(b)
13. (a)

(b)
* 59/5/3

When was the Constitution of India enforced ?
Name the first Indian Governor General of India.
Name the first Health Minister of free India.

Name the state where the Communist Party of India formed the
Government in 1957.

SECTION C
Analyse that globalisation is about world wide inter-connectedness.
OR

Evaluate the role of technology in globalisation.

Highlight any three factors that led to a multi-party alliance system in
Indian politics since 1989.

OR

Highlight any three factors that are responsible for the rise of Bhartiya
Janata Party (BJP) as a strong political party after 1991.

4x1=4

3x2=6

3x2=6



* 59/5/3

FAE




